&)

N
. %&. e M= %
ALLIANCE GIRL'S HIGH SCHOOL MARKING SCHEME
MATHEMATICS 12111 &®
(2SECTION A (50 Marks) M
1. [306x0.36x10° Q%Q
V1.36x0.64 <105
<2 AN
3_{3&;3%,18&@ l[ujﬁ 36 %100
1%@%@3’ Vize o4
*Lﬁ{d ( 1
o (V6| _(9)
& \\ Hﬁ‘ o\
£ N
I
e . 1‘9“{3““}'_“3'“ g2 SxlH M
AN C WfAxqJed 2x 8
Fx3x5 45
I : Al
- IIi 1 3 marks
Al 2 20 : —
< Nuimn, ﬁdh{ﬁlb 33)

— 6ab(3a - 4b) M
- 2(3a-4b)Y2a-3b)
DEN. -2(6a* ~17ab + 126’ )
= -2(3a—4bX2a- 3b)
Prod 72 g
Sum I?J‘J—R ' - Al
_ 3ab
2a-3b :
~2f6a? ~9ab~8ab + 126
~2[3a(2a - 3b) - 4b(2a - 3b)]
or
~2l6a* ~ 8ab - 9ab + 125" ]
~2|2a(3a - 4b) - 3b(3a - 4b)]
- 3ab

3 marks
3h— 2{1 s =
3. 4) Let chlldreﬁ be x 5
3 ;
SRR e ayere DRI g
530+x 530+ x
61200+ 360x =114480+ 216x Al
L lddx =353280
x =370 2 marks
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. 37
Angle rep children = Sl % 360
900
=148’
Men =216-148" = 68°
Women = 144"
2 marks
& ;
h (GAKTS8
<
<
Qe
¢ & et x be greater no.
N
L & y smaller no.
Qi o
R0 x=40]
Al
= v=18]
LX+y =58
x-2y=4 Ml
Jy=54
=18
x=58-18
X =40 3 marks
5. 525'+6(5")=275
5°(5+6)=275 M1
S )= 275
{ F})?q M1
5= =25=5
11 Al
=k 3 marks
; i Lo o
& (] +0.8 Jkm | i +—- |hr M1
60 60 ) Al
5
=%><7 =9km/'hr
l 2 marks
X ! e e RNl L T
) R
SERIRNSE L d2ERLEEE R B3 (23 ,
T B !I'_I_i + :; =iz m A,“{?ﬂ ".15 3= = 26.5(:‘”’1
S it i ' (2
S R e 24)
S B S =53 =] Mi
T ik n}-i"F H_:I._;j‘{_:. ‘1 =27cm’ Al
HZ .I.. !' H B { E-
i§4d anny aians i2ndn SE0E] HR0SH B2, ! 2 marks
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<
N4
?S@
b). Tem rep. 4000m (\é
- lem” rep. IﬁﬂDGﬂ[}gm
e D 2);&% 1600 066~ =
1#060—
Area m@ =0§\32[}Dha v
¥ 4243{&«: 2 marks
8. Lo Qg’@%g? 16+ log, (¥ +5)
LI = log, (16 +80)
2 =16y+80 MI
@ \Q\ ¥ =16y -80=0
&%o&‘(,\\ prod.—80| 20
QOA\G} sum—16 | 4
V' +4y—20y-80=0
y{y+4)-20(y+4)-0
(y=20)y+4)=0 - Ml
¥, =20) Al
Yo _4f
3 marks
9. Massof alloy =102+ 45=147g
Vol.of A= _lﬂE = {icmBl
4]_? B
Vol.of B= ;’ —15¢m’ J
Total vol. A+ B =2lcm’
density of Alloy = H‘?g? \ ;
2lem M
=Tglem Al
2 mar_ks
10 125 11407 +160° +(n—3)145° = (2n—-4)50° M1 Exiterior angles = 360°
425" +145n—435=180n—36(f 55+40+20=115"
350 =35n ~.360-115 = 245"
H= = }L =10sidesAl = 2.45u_ e 24SD 2
180145  35%
S, =(2(10)- 4P0" =16x90=144(" BI 1D T
1. MIAIMI
A/m of § exchange for€ 650
650 29050 7 300
2ol - 21975
=920.65% Al
4 marks

171

Ti ps on passi ng KCSE subscribe freely @http://ww.joshuaarim.com
Support thru' Mpesa 0720502479. Connect wth Joshua Arim on facebook. Not 4 resal e


http://www.joshuaarimi.com

N
A@\& 1
k2. EKTS —111-3] O
el = >
L 2 2 \6
_( b, ‘J' ['f*' b]" ?Q‘b'Q -
(x-a) +(y- h} :
e —?axf‘p QF) 2 {a +h) >
% +12x14u @31, =49 — (’iﬁ-rHj} '
e | i—g +3=0
22 : %}E_é\ ; Al
i;@\qtl"mﬁuﬂ—ﬂ —
oo 15%17600=26400
& Q—Im;: purchase price = 1.3x
T B1
€ deposit = ;_zﬂdﬁ x 17600 = 4400 -
QQ\ 20000
- No. pf nmnlhs=-F‘)‘%;LEJ = 1 Dmonifs MIAT
3 marks
14,
B1 4 bisecting any 2 sides
B1+ major arc ACB
B1 « region shaded and labelled P
2 marks
15, o e i :
Ve | e et )z: . s ah
2 =11 i o
442 6 3 : Yis= g% gl
M= 343 E. ::E Accept4x+3y=-1
: R |
Mo Ly L
M, LRI y) VR
4/ - ii]-&?ﬁy -3=—d4x-4
37 y¥l
3 marks
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cube
Net
By L pear g
&y Lf"'.ﬁ‘“" .I
guvipe 1
]
______ |
e g, B R
3 marks
17. a)
e ‘::::::
(2] g
&,
03 NTM
3 marks
by (i)  P(all Hit)
—0.2x0.3x0.15 M1
=0.009 - Al
2 marks
(1) (0.2x0.7%0.85)+ (0.8 0.3x 0.85)+ (0.8%0.7x0.15) M1 all
0119+ 0,204 +(1.084 M1
= 0.407 - Al
2 marks
(D) (0.2 0.35085)+(0.8%0.3%0.15)+ (0.2x0.7x 0.15)
+{0.2x0.3x0.15) T
= (.051 +0.036+0.021+0.009
=i Al |
10 marks
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a) Al(-3.1) B1(-6.2) C1(-6.4) Bl
b) A''(-3,-1) B'(-6, -2) C'(-6.-4) Bl
¢) on the graph
d) (i) Reflection along y=—x or y+x =0 o
(ii) Reflection along y=0 or x - axis Bl
10 marks
Spacing = 3ﬁ—ﬁ = 6m =
Area= 15 (6)](5+6)+2(54+70+8.0455+ 5.8)] =
=3x744 M1
=223.2m’ . r;;r -
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&
2
?\
(\b
?
yrxj—?
=
e ""d-‘-rrr{
ColeE el
o~ 4
:?tsﬁﬂ.zs | 0.75 ‘ 123 | 175 ‘ 225 ‘ Y T T, T e (O ‘Bl
P,
\
SIS l?.ﬂﬁzi‘ 75625 | 8.5625 | 10.0625 | 12,0628 H.Shzi‘ 17.5625 2a.rmzs‘31 4d.p
x\Q'

Area =0.5x(7.0625+7.5625+ 8.5625 +10.0625 + 12.0625 +14.5625+17.5625+ 21.0625)

=0.5%x98.5
= 4925

MI
M1
Al
6 marks

10 marks

20.a) [y |4 S e 5 1S TSN BT B 3 B, all v
30 1 lde e 08 |18 1137 | B afleast 64

Bl

M1
M1
Al

4 marks
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<
e YQ@*@
c) (i) x +U'4]\E3Liﬂi RS M
Xi==1.7] >
=
2
£ 3 Q’D'Q
(i) y=3x" +4x- 2%(% . | Elf’ ' :
ﬂ=3x?+?x+@' QO(Q y 5 I‘4 |—”'
i |
4 +0.1 Bl 3 marks
10} marks
B #8:=9Cw
wd 085" fo A
&) so=nhem
am’ hu-'-}fﬂ-ﬂ
g, Pt
ad P dewrm
B'.l L/(.-fw 4-23
ABPD
B
b(i) AD =44 = | = 44km
Mi Al
(i) 242"+ 1%  BI
(inj-122° 21" Bi
(iv) 13 x 10 = 130km
M1 Al :
5 10 marks
22.a) (1) Pﬁ:PE)}{i'
e Bl
“i} » > - - 2 R
PM = PO+ OM but OM .-=f/3{}(g
PM = -_p-+:’2/3.:_3 BI
176
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A\
¥
\;\6
(i} ON=OP+PN but thﬁpgzél—hﬂ Ml
iy o8 =
R 38
ON =i~ st
L 4;& LT e Al
X
Z
Ox = k le/g} },ﬁm ADB1 | If QX used
k
QX =3 kp-i-[-——l q
(] Q‘QQF%PX OP+hPM ik 4 ]
sy f
& . 2 £
@u‘zl P+ J{I-—- 24 hq...(i)B] QX—U-MI&G'I*]&
2 Q
KT
‘@‘{\ ii) 3 3/ 8
, Bik=1-h Yix8 n=1-h M
4\ Blyg o : :
4:/3h:‘~k--: 3h sub. 2h=1-h
3 L
3h_1..h_A
R
k= //':,I .
h.--.-%
S
k=82(1/)-8/
i 2 PX=YPM
- PX XM
12 Bl
3.
) XRT =41 =Y XT angle onalt.segments Bl
ERT =90" anglesub. by diameter to C = 9¢° B1
SXRE=90"-41"=49" Bl 10 marks
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o

g

by E RS=ETR=EXR = 36”@%1:5 on alt.segments Bl M1
XET=Y XT=41" —&‘R T angles on alt. segments
Al
RET =180"- {9(—}336‘")— 54"% anglesina A =180’
Qv
XER= 43@3\34” 95" = X T R =180" —95° =85"
opp angf?vgcw clic Bl
%;;z upto180°
*l-& >
‘%%}\\I'XR = TER ‘=54 angles sub. by same chord
AN
oAy Bl Bl
AT
%
QA\C)
d) XO1 :Exﬁ'i' angle sub a centre is twice angle sub. at C
A XOT=2x41" =82 B1 10 marks
04.a) y=S3 o324 M1
dt
Whent=2
v=3(2) -4(2)
v=4mfs Al
bii) atrest v=0
s B =4t =0 M1
t(31-4)=0
St=0butz=0
t=9 Al

(ii) 1=Vat v=1_0
I—ﬂ,’T+6

=4 81541

M1
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(iii)

K%
t=4 — s=4"-2(4F +6§9°§8m
t=3 s=3-‘—2(3)2,§\%=15

displacement dun'ag?ﬁh sec.=38-15=23m

Q‘b’
3o
Q’?’;o&
(v At maximu velocity a =0
s & o
a6 -4=0 Ml
@QéQ 1
ol e ol
\l:f&.\ e = /3 o 10 marks
,‘Q/@\
AR
o
QO& c')\\'

L
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